


Неметаллы - это факт -
Предпочитают электроны забирать.

И только брат их, кислород,
Им постоянно это делать не даёт. 

С + О2 = СО2;   С + Н2 = СН4



Zn0 + Br2  → Zn+2Br2

H2
0 + Cl2

0
  → 

2H+1Cl-1

C0 + 2H2
+6SO4  → 2S+4O2 + C+4O2 + 

2H2ONa + S  → Na2S
4HNO3 + Cu  → Cu(NO3)2 + 2NO2 + 
2H2O

2Cu0 + O2
0

  → 
2Cu+2O-2

Fe + H2SO4(p)  → FeSO4 + H2

H2
+6SO4(k)  → S0

Mg0 + 2H+1Cl-1  → Mg+2Cl2
-1+ H2

0
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1. C2H5ОН → C2H4 + H2O
                                                             H2SO4

2. C2H4 + KMnO4 + H2O ⭢   CH2― CH2 + MnO2 +KOH
                                               |           |
                                             ОН      ОН 

                                              этандиол 1,2







MnCC5CH3- CH2OH + 12K MnO4 + 18H2SO4  = 10CO2 + 6K2SO4 + 12MnSO4 + 33H2O
     -3     -1                      +7                                +4                               +2

-3 - 7ē = C+4 

-1 - 5ē = C+4 

+7 - 5ē = Mn+2 

восстановитель

восстановитель

окислитель

5 окисление

12 восстановление

5CH3- CH2OH + 12K MnO4 + 18H2SO4  = 10CO2 + 6K2SO4 + 12MnSO4 + 33H2O
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С←СН4→ СН3Cl→ C2Н6→ CО2
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